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(HLFD A PEEEE| miA W UED) A g miH (HLTD AXFES | midk SUED) AFFES | miAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R & | Mo 25,137 10,156] # 48 4 3¢ | MEfHa—1 3,486 -1,465 AR S 3 | Mo 20,600 19,150 #F #R 5 3% | - 3,200 -2,600
it 25,137 10,156 it 3,486 -1,465 it 20,600 19,150 gt 3,200 -2,600
HiHa—y 1,098 0 HHa—py 630 126 VER T 1,200 1,050 HHa—L 674 305
Ho R #EHHa— )L 20,341 -4,008] H#1 ER| MEHa-L 78,956 4,341 Mo R | HEHa- 21,270 12,835 1 4R | MEHHa- 70,715 21,934
it 21,439 -4,008 it 79,586 4,467 it 22,470 13,885 gt 71,389 22,239
HiHa—y 24,998 -515 HiHa—y 0 0 HiHa—y 27,811 4,142 HHHa—py 0 0
5 Ft fEHa— )L 69,198 -7,932) & F | EHa- 1,274 -637 &5 3t | EHHa- 67,607 -2,061] 1§ & | fEEfH— 503 -4,386
it 94,196 -8,447 it 1,274 -637 it 95,418 2,081 gt 503 -4,386
)5} HHHa—) 23,040 -412) 96 HHHa—) 0 0 9)5) HHaa—L 26,111 4,942 |96 AHHHa— 0 0
& 17) | EHa-y 48,372 -6,421 & 13) | mHa—py 0 0 & 17) | Efa—py 49,077 ~7,241 & 17) | EHa—y 0 0
it 71,412 -6,833 it 0 0 it 75,188 -2,299 gt 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 415 -376) A R | EEHa- 416 214 s R | EEHa- 450 390 4+ R |- 140 0
it 415 -376 it 416 214 it 450 390 gt 140 0
HiHa—y 0 0 HiHa—y 665 -110 HiHa—y 0 0 HHHa—py 680 330
HOMIER $EAH ) 616 199 ZEoisR | MEHa-L 8,279 -1,073 FoHgR | - 1,030 1,030] ZE2HigR | M- 8,154 3,256
it 616 -199 it 8,944 -1,183 it 1,030 1,030 gt 8,834 3,586
HiHa—y 75 -3 HiHa—y 380 -35 HiHa—y 55 2 HHHa—py 361 -49
fFa&hse | EfHa- 22,301 408 B4 4 | MEHa-L 1,336 -91 fFaefse | EHEa-L 17,635 3,845 fE4&+44 | EfHa—n 1,420 420
154 2} 22,376 -411 54 =t 1,716 -126 154 =t 17,690 3,847 {54 2t 1,781 371
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 AHiHa— 0 0
BRI 935 32| EMRHE | M- 5,602 -4,525 R | A 900 -150) EMRE | Wi 5,160 2,450
it 935 32 it 5,602 -4,525 it 900 -150 gt 5,160 2,450
HiHa—y 0 0 HiHa—y 2,258 -103 HiHa—y 0 0 HHHa—py 2,000 -800
FESRRIEA 3% | M a—) 0 OFIF  FIFAr 363 Mt a—) 36,035 3,126 FEs R4 ey b a—n 0 OFESS - RIEA 33 Mg a—)L 35,868 4,680
it 0 0 it 38,293 3,023 it 0 0 gt 37,868 3,880
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R R M a1 7,461 503] A 4R R | EEfHa- 0 0 £ HE R | BHEa- 7,600 400 £ 4B R | EHHa-L 0 0
it 7,461 503 it 0 0 it 7,600 400 gt 0 0
HiHa—y 301 0 HiHa—y 60 -1 HiHa—y 300 0 HHHa—py 60 0
% D fth $EAH )V 14,607 1,100 % o fth | M- 25,627 -1,022 Z O | EEHa- 12,518 -1,285) & @ fth | a0 24,450 8,400
it 14,908 1,100 it 25,687 -1,023 it 12,818 -1,285 &t 24,510 8,400
HiHa—y 26,472 -518 HiHa—y 3,993 -123 HiHa—y 29,366 5,194 HHa—py 3,775 -214
A Et M a—)L 161,011 -1,132] # & § | fEHa- 161,011 -1,132 wEE | e 149,610 34,154 # A | EfHa- 149,610 34,154
it 187,483 -1,650 it 165,004 -1,255 it 178,976 39,348 &t 153,385 33,940
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{HIL F) A HsEsgsk| miH b QUED) A HEgsE mid b (LT AFFEE | midk W UED) AXFEE | HiAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R S K | - 24,856 -281] #B R 5% % | M- 5,246 1,760 B R AF % | MR- 18,950 ~1,650| #F 8 5% % | M- 600 -2,600
it 24,856 -281 it 5,246 1,760 it 18,950 -1,650 it 600 -2,600
HHa—p 1,200 102 HHa—y 678 48 HHa—y 1,200 0 HHa—y 674 0
o 4R MEHH ) 20,861 5201 Hi R | #EfHa 87,540 8,584 HoOR | - 21,925 655 Hh ER | EHHa-L 92,788 22,073
it 22,061 622 it 88,218 8,632 it 23,125 655 it 93,462 22,073
HHa—p 27,946 2,948 HHa—p 0 0 HHa—y 24,350  -3,461 HHa—y 0 0
5 3t $EAH 01—V 76,475 7,277 1& Rt | HEHHa-p 1,594 320 5 Ft | EEa- 87,371 19,764] & & |- 2,850 2,347
it 104,421 10,225 it 1,594 320 it 111,721 16,303 it 2,850 2,347
9)5) FHHa—) 26,246 3,206] (956 FHHa—) 0 0 9)5) VER T 22,650 -3,461] |95 HEHa—L 0 0
#F 13) | fEEa—y 48,370 -2 & f3) | Efaa—py 0 0 # f3) | -y 59,181 10,104 & 13) | - 0 0
it 74,616 3,204 it 0 0 it 81,831 6,643 it 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R - 458 431 4 R | EEHa- 195 -221 b R | MR- 160 -290] 4+ B | o 140 0
it 458 43 it 195 -221 it 160 -290 it 140 0
HHa—p 0 0 HHa—y 685 20 HHa—p 0 0 HHa—y 680 0
FoHiER | Mo 1,120 504] ZE2oMigR | &I 8,360 81 FoHiER | a0 1,630 600| ZEoHiER | MEHHa—L 8,573 419
it 1,120 504 it 9,045 101 it 1,630 600 it 9,253 419
HHa—y 340 265 HHa—y 365 -15 HHa—y 203 148 HHa—y 361 0
Ead4 | EHa- 21,429 -872) &4 | EHa- 1,435 99 Fa&dhe | EHa-y 16,005 -1,630] F&H4 | EfHa— 1,210 -210
54 =t 21,769 -607 E4 =t 1,800 84 54 =t 16,208 -1,482 154 2t 1,571 -210
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BAREE | - 919 -16] BMRHE | - 4,431 -1,171 ERRRE | - 900 o] EMRH |#EHa-) 4,880 -280
it 919 -16 it 4,431 -1,171 it 900 0 it 4,880 -280
HHa—y 0 0 HHa—y 2,000 -258 HHa—p 0 0 HHa—y 2,000 0
FEA R4 3K | MR- 0 OFEA: - FE4: 33 a1 35,573 ~462 FIE: - RIE 4353y fedHa— 0 OFEA: - FEA 3y MmfHa—) 34,908 -960
it 0 0 it 37,573 -720 it 0 0 it 36,908 -960
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
£ IR - 7,688 227 A B R | - 0 0 AR | B 7,250 =350 ZE R | o 0 0
it 7,688 227 it 0 0 it 7,250 -350 it 0 0
HHa—p 300 -1 HHa—p 64 4 HHa—y 300 0 HHa—y 60 0
Xl MR- 13,624 983 = o fth | EEfHI— 23,056 -2,571 Z O | A 12,568 50 = o fh | fEHHa-L 20,810 -3,640
it 13,924 -984 it 23,120 -2,567 it 12,868 50 it 20,870 -3,640
HHa—p 29,786 3,314 HHa—y 3,792 -201 HHa—y 26,053 -3,313 HHa—y 3,775 0
w4 R M a1 167,430 6,419] & & Ft | EHHa- 167,430 6,419 WA R | B 166,759 17,149 # & 7t | #\Ea- 166,759 17,149
it 197,216 9,733 it 171,222 6,218 it 192,812 13,836 it 170,534 17,149
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(HLFD A PEEEE| miA W UED) A g miH (HLTD AXFES | midk SUED) AFFES | miAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R & | Mo 17,652 ~7,204] A% 6B 45 3 | Mo 7,558 2,312 AR S 3 | Mo 1,850 —17,100] # $8 %5 3% | MEfHa—n 6,900 6,300
it 17,652 —7,204 it 7,558 2,312 it 1,850 -17,100 gt 6,900 6,300
HiHa—y 1,084 -116 HiHa—y 496 -182 HiHa—y 0 -1,200 HHHa—py 337 -337
o 4R #EHHa— )L 17,294 -3,567| 1 4R | MEfHa-L 63,849 23,691 Mo R | HEHa- 5,855 -16,070] M1 R | EEfHa—p 34,290 58,498
it 18,378 -3,683 it 64,345 23,873 it 5,855 17,270 gt 34,627| 58,835
HiHa—y 27,734 -212 HiHa—y 0 0 HiHa—y 26,944 2,594 FHHHa—n 0 0
f& &t |HEfHa-p 72,566| 3,909 1§ Rt | EHHa-L 2,171 577 & &t | fEHa- 62,918 24,453 f& FE | HEHI- 3,716 926
it 100,300 —4,121 it 2,171 577 it 89,862 21,859 gt 3,776 926
)5} HHHa—) 24,586 -1,660] [9H HHHa—) 0 0 9)5) HHaa—L 22,586 -64] 5B AHHHa— 0 0
& 17) | EHa-y 50,804 2,434 & 13) | mHa—py 0 0 & 17) | Efa—py 52,106 -7,075 & 17) | EHa—y 0 0
it 75,390 774 it 0 0 it 74,692 -7,139 gt 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 517 59 4 6R | Mo 353 158 s R | EEHa- 70 90| b R | EHHa-L 140 0
it 517 59 it 353 158 it 70 -90 gt 140 0
HiHa—y 0 0 HiHa—y 672 -13 HiHa—y 0 0 HHHa—py 300 -380
HOMIER $EAH ) 979 141 ZEoisR | MEHa-L 4,948 -3,412 FoHgR | - 0 -1,630] FF2HgR | MEfHa-L 1,180 -7,393
it 979 -141 it 5,620 -3,425 it 0 -1,630 gt 1,480 -7,773
HiHa—y 46 -294 HiHa—y 255 -110 HiHa—y 0 -203 HHHa—py 100 -261
fFa&hse | EfHa- 11,237 -10,192) 1§44 |EHa—L 5,420 3,985 fFaefse | EHEa-L 480 15,525 1E4&H4 | EiHa-v 1,282 72
154 2} 11,283  -10,486 54 =t 5,675 3,875 154 =t 480 -15,728 {54 2t 1,382 -189
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BRI 952 33| EMRH | M- 7,725 3,294 R | A 1,000 100 EARRHE | HEHa— 14,288 9,408
it 952 33 it 7,725 3,294 it 1,000 100 gt 14,288 9,408
HiHa—y 0 0 HiHa—y 2,990 990 HiHa—y 0 0 HHHa—py 3,500 1,500
FESRRIEA 3% | M a—) 0 OFIF  FIFAr 363 Mt a—) 32,643 -2,930 FEs R4 ey b a—n 0 OFESS - RIEA 33 Mg a—)L 26,735 -8,173
it 0 0 it 35,633 -1,940 it 0 0 gt 30,235 -6,673
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R R M a1 7,532 -156) £ R | EHa- 0 0 £ HE R | BHEa- 9,700 2,450 A AR | EHa-y 0 0
it 7,532 -156 it 0 0 it 9,700 2,450 gt 0 0
HiHa—y 300 0 HiHa—y 61 -3 HiHa—y 300 0 HHHa—py 60 0
% D fth $EAH )V 13,666 2] & o fh | - 17,728 -5,328 Z O | EEHa- 12,548 20 = o | EHa-y 5,830 14,980
it 13,966 42 it 17,789 -5,331 it 12,848 -20 &t 5,890 —14,980
HiHa—y 29,164 -622 HiHa—y 4,474 682 HiHa—y 27,244 1,191 HHa—py 4,297 522
A Et M a—)L 142,395 25,035 # A& FF | W0 142,395 -25,035 wEE | e 94,421 -72,338] # & FF | EHI-L 94,421 72,338
it 171,559| 25,657 it 146,869 24,353 it 121,665 71,147 &t 98,718 71,816
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(HLFD A PEEEE| miA W UED) A g miH (HLTD AXFES | midk SUED) AFFES | miAk
AHa—-nv 0 AHHa— 0 0 AHHa— 0 0 AfHa—) 0 0
R & | Mo 2,357 —15,295] #B 4R & 3¢ | MEfHa-L 2,189 -5,369 AR S 3 | Mo 2,050 200] #B #R 25 % | MEHHa—-L 3,199 -3,701
it 2,357  -15,295 it 2,189 -5,369 it 2,050 200 gt 3,199 -3,701
HiHa—y 1,010 ~74 HiHa—y 337 -159 HiHa—y 900 900 HHHa—py 337 0
Ho R #EHHa— )L 11,231 -6,063] 1 4R | MEHa-L 22,441 -41,408 Mo R | HEHa- 13,610 7,755 M R | EEfHa- 17,386 16,904
it 12,241 -6,137 it 22,778 41,567 it 14,510 8,655 gt 17,723]  -16,904
HiHa—y 34,318 6,584 HiHa—y 0 0 HiHa—y 30,098 3,154 HHHa—py 0 0
5 Ft fEHa— )L 42,628 -29,938] 1& FE | EHa-n 1,368 -803 &5 3t | EHHa- 44,773 18,145 1& FE | EHI-L 6,730 2,954
it 76,946] -23,354 it 1,368 -803 it 74,871 14,991 gt 6,730 2,954
)5} HHHa—) 30,905 6,319] [9H HHHa—) 0 0 9)5) HHaa—L 27,231 4,645 |96 AHHHa— 0 0
& 17) | EHa-y 33,216 -17,588 & f3) | Efaa—py 0 0 # f3) | -y 34,682 -17,424 & 17) | EHa—y 0 0
it 64,1211 -11,269 it 0 0 it 61,913 12,779 gt 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 103 414 A+ R | EEHa- 143 -210 s R | EEHa- 70 o] 4 R |&EEa- 140 0
it 103 -414 it 143 -210 it 70 0 gt 140 0
HiHa—y 0 0 HiHa—y 561 -111 HiHa—y 0 0 HHHa—py 470 170
HOMIER $EAH ) 898 -81| o | MEHa-L 850 -4,098 FoHgR | - 1,100 1,100 ZE2HigR | M- 1,192 12
it 898 -81 it 1,411 -4,209 it 1,100 1,100 gt 1,662 182
HiHa—y 0 -46 HiHa—y 2,150 1,895 HiHa—y 0 0 HHHa—py 100 0
fFa&hse | EfHa- 2,268 -8,969| 1544 | M- 14,061 8,641 fFaefse | EHEa-L 3,205 2,725 144 | By 12,750 11,468
154 2} 2,268 -9,015 54 =t 16,211 10,536 54 =t 3,205 2,725 {54 2t 12,850 11,468
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BRI 1,075 123 BEARHE | o 287 -7,438 R | A 1,150 150 EARRHE | HEHa— 1,450 12,838
it 1,075 123 it 287 -7,438 it 1,150 150 gt 1,450 -12,838
HiHa—y 0 0 HiHa—y 2,777 -213 HiHa—y 0 0 HHHa—py 2,700 -800
FESRRIEA 3% | M a—) 0 OFIF  FIFAr 363 Mt a—) 34,317 1,674 FEs R4 ey b a—n 0 OFESS - RIEA 33 Mg a—)L 36,363 9,628
it 0 0 it 37,094 1,461 it 0 0 gt 39,063 8,828
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R R M a1 7,440 921 A HF | EHa- 0 0 £ HE R | BHEa- 6,800 -2,900] A /| EfHa-L 0 0
it 7,440 -92 it 0 0 it 6,800 -2,900 gt 0 0
HiHa—y 40 -260 HiHa—y 60 -1 HiHa—y 0 -300 HHHa—py 60 0
% D fth $EAH )V 12,882 -84 = o | MEHa-L 5,226 -12,502 Z O | EEHa- 12,798 2501 = o | -y 6,346 516
it 12,922 -1,044 it 5,286 -12,503 it 12,798 -50 &t 6,406 516
HiHa—y 35,368 6,204 HiHa—y 5,885 1,411 HiHa—y 30,998 3,754 HHa—py 3,667 -630
A Et M a1 80,882\ 61,513 # A FF | ®mEfHa-n 80,882| 61,513 wEE | e 85,556 -8,865] #& A | EfHa-n 85,556 -8,865
it 116,250] 55,309 it 86,767| 60,102 it 116,554 -5,111 &t 89,223 -9,495
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AT A HET: AT

{HIL F) A HsEsgsk| miH b QUED) A HEgsE mid b (LT AFFEE | midk W UED) AXFEE | HiAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R 5 | Mo 1,608 ~749) #b SR L5 K | - 1,259 -930 B R AF % | MR- 1,950 ~100| #B $R % 3% | M- 6,170 2,971
it 1,608 -749 it 1,259 -930 it 1,950 -100 it 6,170 2,971
HHa—p 1,010 0 HHa—y 337 0 HHa—y 1,150 250 HHa—y 337 0
o 4R MEHH ) 13,407 2,176] i R | MEHHI- 22,005 -436 HoOR | - 14,425 815 Hh R | fEHHa-L 14,149 -3,237
it 14,417 2,176 it 22,342 -436 it 15,575 1,065 it 14,486 -3,237
HHa—p 37,026 2,708 HHa—p 0 0 HHa—y 37,128 7,030 HHa—y 0 0
5 3t $EAH 01—V 37,715 -4,913] & & |- 2,803 1,435 5 Ft | EEa- 37,924 -6,849] 1§ Rt | EEfHa— 3,155 -3,575
it 74,741 -2,205 it 2,803 1,435 it 75,052 181 it 3,155 -3,575
9)5) FHHa—) 32,505 1,600 [H FHHa—) 0 0 9)5) VER T 32,515 5,284] |95 HEHa—L 0 0
#F 13) | fEEa—y 30,546 -2,670 & f3) | Efaa—py 0 0 # f3) | -y 33,574  -1,108 & 13) | - 0 0
it 63,051 -1,070 it 0 0 it 66,089 4,176 it 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R MR- 70 =33 4 R | Mo 141 -2 gL R | AL 70 of 4+ 4R |- 147 7
it 70 -33 it 141 -2 it 70 0 it 147 7
HHa—p 0 0 HHa—y 463 -98 HHa—p 0 0 HHa—y 370 -100
FoHiER | Mo 1,448 550 ZE2oMigR | &I 1,244 394 FoHiER | a0 1,550 450 ZEoHiER | MEHHa-L 1,234 42
it 1,448 550 it 1,707 296 it 1,550 450 it 1,604 -58
HHa—y 0 0 HHa—y 2,552 402 HHa—y 0 0 HHa—y 4,100 4,000
Ead4 | EHa- 4,100 1,832 f&&+4 |-y 12,115 -1,946 Fa&dhe | EHa-y 3,735 530 544 | M-y 16,416 3,666
54 =t 4,100 1,832 E4 =t 14,667 -1,544 (B =t 3,735 530 154 2t 20,516 7,666
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BAREE | - 1,142 67| EARRH | HHa— 139 -148 ERRRE | - 1,400 250 EMRFE | HEfHa-L 0 -1,450
it 1,142 67 it 139 -148 it 1,400 250 it 0 -1,450
HHa—y 0 0 HHa—y 2,700 =77 HHa—p 0 0 HHa—y 2,700 0
FEA R4 3K | MR- 0 OFEA: - FE4: 33 a1 35,496 1,179 FIE: - RIE 4353y fedHa— 0 OFEA: - FEA 3y MmfHa—) 37,438 1,075
it 0 0 it 38,196 1,102 it 0 0 it 40,138 1,075
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
£ IR - 6,790 -650] A R | M- 0 0 AR | B 9,000 2,200 & | EEa- 0 0
it 6,790 -650 it 0 0 it 9,000 2,200 it 0 0
HHa—p -1 -41 HHa—p 124 64 HHa—y 0 0 HHa—y 312 252
Xl MR- 13,232 350 = ol | #EHa 4,310 -916 Z O | A 13,270 4721 = o | EEHHa-L 4,615 -1,731
it 13,231 309 it 4,434 -852 it 13,270 472 it 4,927 -1,479
HHa—p 38,035 2,667 HHa—y 6,176 291 HHa—y 38,278 7,280 HHa—y 7,819 4,152
w4 R - 79,512 -1,370) # & FF | o 79,512 -1,370 WA R | B 83,324 -2,232] ¥ A F | & 83,324 -2,232
it 117,547 1,297 it 85,688 -1,079 it 121,602 5,048 it 91,143 1,920
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AT A HET: AT

(HLFD A PEEEE| miA W UED) A g miH (HELF) AXFES | midk WUED) AFFES | miAk
AHa—-nv 0 0 AHHa— 0 0 AHHa— 0 0 AfHa—) 0 0
R S K | - 2,035 427| #R 4R 2 ok | Mo 2,211 952 AR S 3 | Mo 1,500 ~450| AP £R % X% | i 8,870 2,700
it 2,035 427 it 2,211 952 it 1,500 -450 gt 8,870 2,700
HiHa—y 1,018 8 HiHa—y 390 53 HiHa—y 0 -1,150 HHHa—py 337 0
o R fEHa—)) 13,493 g6l i 4R | EHHa-L 17,862 -4,143 Mo 4R | MEHa- 9,250 -5,175] M1 4R | EEfHa- 7,371 -6,778
it 14,511 94 it 18,252 -4,090 it 9,250 -6,325 gt 7,708 -6,778
HiHa—y 37,168 142 HiHa—y 0 0 HiHa—y 36,121 -1,007 HHHa—py 0 0
5 Ft $EAH 01—V 35,248 -2,467) & R | o 2,532 -271 5§t | EEHa- 38,331 407 & FE | EHHa-L 5,064 1,909
it 72,416 -2,325 it 2,532 -271 it 74,452 -600 gt 5,064 1,909
b)=S HiHa—y 32,819 314] 9B HiHa—y 0 0 9% VER T 32,017 -498| 5B HHa—py 0 0
& 17) | EHa-y 32,171 1,625 & f3) | Efaa—py 0 0 & 17) | Efa—py 36,688 3,114 & 17) | EHa—y 0 0
it 64,990 1,939 it 0 0 it 68,705 2,616 gt 0 0
AHa—-n 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 43 271 A R | -y 154 13 s R | EEHa- 40 =30 Ab R | HEHHa-L 147 0
it 43 -27 it 154 13 it 40 -30 gt 147 0
HiHa—y 0 0 HiHa—y 389 -74 HiHa—y 0 0 FHHHa—n 50 -320
HOMIER $EAH ) 1,305 -143] ZEoigR | MEHa-L 1,366 122 FoHgR | - 0 -1,550] FF2HgR | Mo 1,639 405
it 1,305 -143 it 1,755 48 it 0 -1,550 gt 1,689 85
HHa— 0 0 Ha—y 4,500 1,948 HfHa—y 0 0 HHa—y 6,100 2,000
B4 | mEa- 5,067 967 fE4&H4 | MmEHa- 12,827 712 fFaefse | EHEa-L 5,420 1,685 &4 | MEHa—y 17,175 759
154 2} 5,067 967 54 =t 17,327 2,660 54 =t 5,420 1,685 {54 2t 23,275 2,759
AHa—-nv 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BRI 1,382 240 BEMCRHE | MEHa- 0 -139 ERRRE | - 1,450 501 EMCREE | EEHHa-L 0 0
it 1,382 240 it 0 -139 it 1,450 50 gt 0 0
HiHa—y 0 0 HiHa—y 2,870 170 HiHa—y 0 0 FHHHa—n 3,000 300
SES - FE A K | - 77 TTREZR - FEE %03 - 38,920 3,424 FiEZ - GE4 353y 44— 0 ORIES: - R4 3534 #EHHa—)) 36,439 -999
it 77 77 it 41,790 3,594 it 0 0 gt 39,439 -699
AHa—-nv 0 0 AHHa— 0 0 AHHHa— 0 0 AfHa—) 0 0
R R M a—)L 7,987 L,197] A B |- 0 0 £ HE R | BHEa- 9,600 600| £ 4B R | EHHa-L 0 0
it 7,987 1,197 it 0 0 it 9,600 600 gt 0 0
HiHa—y 1 2 HiHa—y 402 278 HiHa—y 0 0 FHHHa—n 492 180
% D fth $EAH )V 14,007 75 F o | - 4,772 462 Z O | EEHa- 13,834 564 &= o | M-V 2,720 -1,895
it 14,008 777 it 5,174 740 it 13,834 564 &t 3,212 -1,715
HiHa—y 38,187 152 HiHa—y 8,551 2,375 HiHa—y 36,121 -2,157 HHa—py 9,979 2,160
A Et M a—)L 80,644 1,132 # A& FF | mEfHa-n 80,644 1,132 WA R | B 79,425 -3,899] ¥ A | EfHa- 79,425 -3,899
it 118,831 1,284 it 89,195 3,507 it 115,546 -6,056 &t 89,404 -1,739
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2024 4 7 H ERER o — VTS

AT A HET: AT

2024 4 7 H ERERIa— L H RS

AT A HET: AT

{HIL F) A HsEsgsk| miH b QUED) A HEgsE mid b (LT AFFEE | midk W UED) AXFEE | HiAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R 5 | Mo 1,956 ~79] #B #R % x| oL 1,691 -520 B R AF % | MR- 2,400 900] #B #R %% 3% | fEfHa— 6,539 -2,331
it 1,956 -79 it 1,691 -520 it 2,400 900 it 6,539 -2,331
HHa—p 973 -45 HHa—y 337 -53 HHa—y 900 900 HHa—y 337 0
o 4R MEHH ) 12,701 -792] Hi R | EEHa- 19,242 1,380 HoOR | - 11,880 2,630 i 4R | MEHa- 11,834 4,463
it 13,674 -837 it 19,579 1,327 it 12,780 3,530 it 12,171 4,463
HHa—p 37,725 557 HHa—p 0 0 HHa—y 34,302 -1,819 HHa—)y 0 0
f& 3t -V 34,269 979 f§ Ft |4EfHI— 2,385 -147 f& 3t |#fHa—p 32,226| 6,105 1§ FE | MEHa- 2,802 2,262
it 71,994 -422 it 2,385 -147 it 66,528 -7,924 it 2,802 -2,262
9)5) FHHa—) 32,764 =551 9B FHHa—) 0 0 9)5) VER T 29,808 -2,209] |55 HEHa—L 0 0
#F 13) | fEEa—y 32,506 335 & f3) | Efaa—py 0 0 # f3) | -y 32,226 4,462 & 13) | - 0 0
it 65,270 280 it 0 0 it 62,034 -6,671 it 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R - 90 470 4 4R | EEHa- 197 43 b R | MR- 110 700 4 R | Mo 217 70
it 90 47 it 197 43 it 110 70 it 217 70
HHa—p 0 0 HHa—y 342 -47 HHa—p 0 0 HHa—y 399 349
HoMigR - 1,099 -206] ZEoHuER | MEHa- 1,826 460 FoHiER | a0 1,250 1,250 ZEoHugR | MEHHa-L 555 -1,084
it 1,099 -206 it 2,168 413 it 1,250 1,250 it 954 ~735
HHa—y 0 0 HHa—y 4,561 61 HHa—y 0 0 HHa—y 4,100 -2,000
Ead4 | EHa- 4,672 =395 &4 | EHa-y 12,215 -612 Fa&dhe | EHa-y 4,665 -755| &4 | EiEa- 12,252 -4,923
154 2t 4,672 -395 E4 2} 16,776 -551 (B 2} 4,665 ~755 & 2| 16,352 -6,923
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BAREE | - 1,500 18| EBdkRit | MHa—p 0 0 JEMGRA | MEE - 1,400 50| EMCRHE | EEHHa-L 0 0
it 1,500 118 it 0 0 it 1,400 -50 it 0 0
HHa—y 0 0 HHa—y 2,845 -25 HHa—p 0 0 HHa—y 2,700 -300
FEA R4 3K | MR- 158 81FES: - FEA 3 Mo 36,277 -2,643 FIE: - RIE 4353y fedHa— 100 100 fiE: - RIE4 353 M a—n) 36,387 -52
it 158 81 it 39,122 -2,668 it 100 100 it 39,087 -352
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
£ IR - 7,325 -662] A R | MEHa-L 0 0 AR | B 8,680 -920] ZE# A | EHEa- 0 0
it 7,325 -662 it 0 0 it 8,680 -920 it 0 0
HHa—p -1 -2 HHa—p 238 -164 HHa—y 0 0 HHa—y 0 -492
Xl MR- 14,502 495 = o | #EEa- 4,439 -333 Z O | A 13,910 6| = o | EHI-L 6,035 3,315
it 14,501 493 it 4,677 -497 it 13,910 76 it 6,035 2,823
HHa—p 38,697 510 HHa—y 8,323 -228 HHa—y 35,202 -919 HHa—y 7,536 -2,443
w4 R - 78,272 -2,372) ¥ A& FF | EHHa- 78,272 -2,372 WA R | B 76,621 -2,804] A R | EfHa- 76,621 -2,804
it 116,969 -1,862 it 86,595 -2,600 it 111,823 -3,723 it 84,157 -5,247
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AT A HET: AT

2024 4 8 H EER = — L H Kk

AT A HET: AT

{HIL F) A HsEsgsk| miH b QUED) A HEgsE mid b (LT AFFEE | midk W UED) AXFEE | HiAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R S K | - 2,006 50] # #R 4F X | o 1,725 34 B R AF % | MR- 1,650 =750] #B £R % K | M- 6,690 151
it 2,006 50 it 1,725 34 it 1,650 ~750 it 6,690 151
HHa—p 923 -50 HHa—y 327 -10 HHa—y 900 0 HHa—y 327 -10
o 4R MEHH ) 11,282 -1,419] i 4R | a2 18,960 -282 HoOR | - 11,170 -710]  Hi $R | ME{Ha- 13,082 1,248
it 12,205 -1,469 it 19,287 -292 it 12,070 -710 it 13,409 1,238
HHa—p 35,281 -2,444 HHa—p 0 0 HHa—y 35,118 816 HHa—y 0 0
5 3t $EAH 01—V 34,145 -124] & Rt | #EHI-L 1,507 -878 5 Ft | EEa- 37,797 5571 & FE |MEfa—n 785 -2,017
it 69,426 -2,568 it 1,507 -878 it 72,915 6,387 it 785 -2,017
9)5) FHHa—) 31,795 -969] |19H FHHa—) 0 0 9)5) VER T 31,784 1,976] [©>H HEHa—L 0 0
#F 13) | fEEa—y 32,593 87 (& 13) |- 0 0 # f3) | -y 36,247 4,021 & 13) | - 0 0
it 64,388 -882 it 0 0 it 68,031 5,997 it 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R - 110 200 4 4R | HEHHa- 140 -57 b R | MR- 110 of 4+ 4R |- 267 50
it 110 20 it 140 =57 it 110 0 it 267 50
HHa—p 0 0 HHa—y 533 191 HHa—p 0 0 HHa—y 617 218
FoHiER | Mo 1,455 356 ZEoMigR | MEFHa- 1,281 -545 FoHiER | a0 1,350 100] ZH2MigR | MEHa— 947 392
it 1,455 356 it 1,814 -354 it 1,350 100 it 1,564 610
HHa—y 0 0 HHa—y 4,294 -267 HHa—y 0 0 HHa—y 6,100 2,000
Ead4 | EHa- 5,187 515] f§&H4: | MfHa—y 10,917 -1,298 Fa&dhe | EHa-y 5,245 580 &4 | MEHHa—) 13,215 963
54 =t 5,187 515 E4 =t 15,211 -1,565 (B =t 5,245 580 154 2t 19,315 2,963
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BAREE | - 1,656 156 EAkRHt | Mo 0 0 JEMGRA | MEE - 1,980 580 AR | M2 0 0
it 1,656 156 it 0 0 it 1,980 580 it 0 0
A 0 0 HHa—y 2,700 -145 HHa-y 0 0 Ha—n 2,700 0
FEA R4 3K | MR- 226 68FIEA: - FIE4 33 MR 37,861 1,584 FIE: - RIE 4353y fedHa— 0 ~100fiES% - FE4 53 M a—) 43,053 6,666
it 226 68 it 40,561 1,439 it 0 -100 it 45,753 6,666
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
£ IR - 6,846 479 AR | - 0 0 AR | B 8,670 -10] A 4B R | - 0 0
it 6,846 -479 it 0 0 it 8,670 -10 it 0 0
HHa—p 955 956 HHa—p 0 -238 HHa—y 1,000 1,000 HHa—y 0 0
Xl MR- 13,950 =552 = o fth | EEHI— 4,472 33 Z O | A 13,662 248 & O fth | EHa-L 3,595 -2,440
it 14,905 404 it 4,472 -205 it 14,662 752 it 3,595 -2,440
HHa—p 37,159 -1,538 HHa—y 7,854 -469 HHa—y 37,018 1,816 HHa—y 9,744 2,208
w4 R - 76,863 -1,409] # & FF | o 76,863 -1,409 WA R | B 81,634 5,013 # A & | -y 81,634 5,013
it 114,022 -2,947 it 84,717 -1,878 it 118,652 6,829 it 91,378 7,221
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2024 4 9 H EER = — L H Kk

AT A HET: AT

(HLFD A PEEEE| miA W UED) A g miH (HLTD AXFES | midk WUED) AFFES | miAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
4R A | - 1,505 -501] #B 4R 4 % | MEfHa—- 1,339 -386 AR S 3 | Mo 1,150 ~500] #B £R % % | M- 1,350 -5,340
it 1,505 -501 it 1,339 -386 it 1,150 -500 gt 1,350 -5,340
HiHa—y 870 -53 HiHa—y 475 148 HiHa—y 0 -900 HHHa—py 327 0
Ho R #EHHa— )L 10,324 -958] # 4R | MEHa- 18,465 -495 Mo R | HEHa- 6,635 -4,535] M 4R | EEfHa- 9,500 -3,582
it 11,194 -1,011 it 18,940 -347 it 6,635 -5,435 gt 9,827 -3,582
HiHa—y 38,538 3,257 HiHa—y 0 0 HiHa—y 37,592 2,474 HHHa—py 0 0
5 Ft MEHH ) 33,619 -526) 1§ Rt | EEHa- 1,411 -96 &5 3t | EHHa- 32,001 -5,796] 1§ Rt | EEfHa— 2,560 1,775
it 72,157 2,731 it 1,411 -96 it 69,593 -3,322 gt 2,560 1,775
)5} HHHa—) 35,302 3,507 [9H HHHa—) 0 0 9)5) HHaa—L 34,306 2,522 |96 AHHHa— 0 0
& 17) | EHa-y 31,251 -1,342 & 13) | mHa—py 0 0 & 17) | Efa—py 29,201 ~7,046 & 17) | EHa—y 0 0
it 66,553 2,165 it 0 0 it 63,507 -4,524 gt 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 110 of 4 $R |EHa- 344 204 s R | EEHa- 110 o] 4 R |&EEa- 617 350
it 110 0 it 344 204 it 110 0 gt 617 350
HiHa—y 0 0 HiHa—y 447 -86 HiHa—y 0 0 HHHa—py 149 -468
2R M a1 1,251 204 ZEohisR | MEfHa-L 1,124 -157 FoHgR | - 0 -1,350] FF2HgR | MEfHa-L 880 67
it 1,251 204 it 1,571 -243 it 0 -1,350 gt 1,029 -535
HiHa—y 0 0 HiHa—y 7,400 3,106 HiHa—y 0 0 HHHa—py 5,600 -500
fFa&hse | EfHa- 5,629 442 E4H4 | - 6,089 -4,828 fFaefse | EHEa-L 5,330 85| f5&h4 | ME4Ha— 5,900 -7,315
154 2 5,629 442 54 2} 13,489 -1,722 54 2} 5,330 85 154 2| 11,500 -7,815
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BRI 2,022 366 EMCRAT | MEHa- 0 0 BARRHE | - 1,830 -150) EMRE | Wi 0 0
it 2,022 366 it 0 0 it 1,830 -150 gt 0 0
HiHa—y 0 0 HiHa—y 2,700 0 HiHa—y 0 0 HHHa—py 2,700 0
FESRRIEA 3% | M a—) 93 ~133FIFE5 - FEA % o 41,363 3,502 FEs R4 ey b a—n 300 300FES: - FEA 3 M a—) 44,804 1,751
it 93 -133 it 44,063 3,502 it 300 300 gt 47,504 1,751
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R R M a1 7,395 549 A 4B & | oy 0 0 £ HE R | BHEa- 7,870 -800| A fH & | EEa- 0 0
it 7,395 549 it 0 0 it 7,870 -800 gt 0 0
HiHa—y 1,000 45 HiHa—y 0 0 HiHa—y 1,000 0 HHHa—py 0 0
% D fth $EAH )V 14,126 176] & o fth | I 5,939 1,467 Z O | EEHa- 13,105 =557 & o fth | a0 2,720 -875
it 15,126 221 it 5,939 1,467 it 14,105 -557 &t 2,720 -875
HiHa—y 40,408 3,249 HiHa—y 11,022 3,168 HiHa—y 38,592 1,574 HHa—py 8,776 -968
A Et M a1 76,074 789 # A E | fEHa- 76,074 -789 wEE | e 68,331 -13,303] # & & | EHI-L 68,331 13,303
it 116,482 2,460 it 87,096 2,379 it 106,923 11,729 &t 77,107 -14,271
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AT A HET: AT

(HLFD A PEEEE| miA W UED) A g miH (HLTD AXFES | midk SUED) AFFES | miAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R & | Mo 1,618 L13] A% #R %5 3% | o 2,473 1,134 AR S 3 | Mo 1,700 550| #F #R 45 3% | - 1,800 450
it 1,618 113 it 2,473 1,134 it 1,700 550 gt 1,800 450
HiHa—y 871 1 HHa—py 327 -148 HHa—py 900 900 HHHa—py 327 0
Ho R #EHHa— )L 10,192 -132] # 4R | MEHa- 15,189 -3,276 Mo R | HEHa- 11,790 5,155 M 4R | EEfHa- 9,056 -444
it 11,063 -131 it 15,516 -3,424 it 12,690 6,055 gt 9,383 -444
HiHa—y 36,938 -1,600 HiHa—y 0 0 HiHa—y 32,969 -4,623 HHHa—py 0 0
5 Ft fEHa— )L 29,316 -4,303) & F | o 2,291 880 &5 3t | EHHa- 30,053 -1,948] 1§ R | EEfHa- 6,418 3,858
it 66,254 -5,903 it 2,291 880 it 63,022 -6,571 gt 6,418 3,858
)5} HHHa—) 33,200 -2,102] [9H HHHa—) 0 0 9)5) HHaa—L 29,265 -5,041] [9HB AHHHa— 0 0
& 17) | EHa-y 26,733 -4,518 & 13) | mHa—py 0 0 & 17) | Efa—py 27,153 -2,048 & 17) | EHa—y 0 0
it 59,933 —6,620 it 0 0 it 56,418 -7,089 gt 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 75 -35] A R | EEfHa- 577 233 s R | EEHa- 100 -10] b R | EHHa-L 607 -10
it 75 -35 it 577 233 it 100 -10 gt 607 -10
HiHa—y 0 0 HiHa—y 601 154 HiHa—y 0 0 HHHa—py 622 473
2R M a1 1,623 372 FEoisR | MEHa- 650 -474 FoHgR | - 1,650 1,650 ZF2HigR | Mo 530 -350
it 1,623 372 it 1,251 -320 it 1,650 1,650 gt 1,152 123
HiHa—y 0 0 HiHa—y 9,713 2,313 HiHa—y 0 0 HHHa—py 10,100 4,500
fFa&hse | EfHa- 5,576 53| B4H4 | M- 3,401 -2,688 fFaefse | EHEa-L 5,255 -75| 544 | EHHa-L 6,650 750
154 2} 5,576 -53 54 2} 13,114 -375 54 2} 5,255 -75 154 2| 16,750 5,250
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BRI 2,151 129] AR | Mo 0 0 BARRHE | - 2,430 600 JEMRK | M-V 0 0
it 2,151 129 it 0 0 it 2,430 600 gt 0 0
HiHa—y 0 0 HiHa—y 2,635 -65 HiHa—y 0 0 HHHa—py 2,400 -300
FESRRIEA 3% | M a—) 44 ~49FESR - FIF A3 M a—)L 42,372 1,009 FEs R4 ey b a—n 150 ~150 A FEA 33 M- 44,003 -801
it 44 -49 it 45,007 944 it 150 -150 gt 46,403 -1,101
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
R R M a1 9,357 1,962 A B R | #EfHa- 0 0 £ HE R | BHEa- 9,500 1,630 £ & | EHHa-L 0 0
it 9,357 1,962 it 0 0 it 9,500 1,630 gt 0 0
HiHa—y 1,039 39 HiHa—y 39 39 HiHa—y 1,000 0 HHHa—py 0 0
% D fth $EAH )V 13,868 258 = o | MEHa-L 6,867 928 Z O | EEHa- 13,960 855 = o | iV 7,524 4,804
it 14,907 -219 it 6,906 967 it 14,960 855 &t 7,524 4,804
HiHa—y 38,848 -1,560 HiHa—y 13,315 2,293 HiHa—y 34,869 -3,723 HHa—py 13,449 4,673
A Et M a1 73,820 -2,254] & F | fEHa- 73,820 -2,254 wEE | e 76,588 8,257 # & Ft | MEEa-p 76,588 8,257
it 112,668 -3,814 it 87,135 39 it 111,457 4,534 &t 90,037 12,930

X AHEITOIENTH/ERIT B LOH B L LI TEE T,

M TRESRREG ) DO B TRES: |13, @l in 5 115 B oA ffiFEES BhEE 2

[FiF4 1T RE FosEs et

IPOE—MeRME GG 2, X TRERAEA OB TFESR 113, Amhpd ShBS [1E L OB MiGEs: B 34175 5 — FE Al s S B S | 2635,
[FiF4 11X RE Lottt

X ASHEYTOENITHERIT B L OH B L LI TEE T,




2024 4 11 H FEReRla— ViS5 Pk s

AT A HET: AT

2024 4 11 H EER=a— L H K& S

AT A HET: AT

(HLFD A PEEEE| miA W UED) A g miH (HLTD AXFES | midk SUED) AFFES | miAk
HHHa— 0 0 HiHa—v 0 0 HHHa—v 0 0 AHiHa— 0 0
4R A | - 2,158 540] # 4R % X | I 2,831 358 AR S 3 | Mo 2,300 600| #F 4R %% 3% | MEfHa— 1,590 -210
it 2,158 540 it 2,831 358 it 2,300 600 gt 1,590 -210
HiHa—y 900 29 HiHa—y 327 0 HiHa—y 900 0 HHHa—py 327 0
Ho R #EHHa— )L 11,714 1,522 M 4R | MEHHa-0 15,004 -185 Mo R | HEHa- 10,985 -805| Mt R | EfHa- 9,134 78
it 12,614 1,551 it 15,331 -185 it 11,885 -805 gt 9,461 78
HiHa—y 37,185 247 HiHa—y 0 0 HiHa—y 36,306 3,337 HHHa—py 0 0
5 Ft fEHa— )L 32,940 3,624] & Rt | fEHHa- 4,549 2,258 &5 3t | EHHa- 36,550 6,497 & #t |®EHEa- 10,871 4,453
it 70,125 3,871 it 4,549 2,258 it 72,856 9,834 gt 10,871 4,453
)5} HHHa—) 33,364 164] Db HHHa—) 0 0 9)5) HHaa—L 32,516 3,251 956 AHHHa— 0 0
& 17) | EHa-y 28,803 2,070 & 13) | mHa—py 0 0 & 17) | Efa—py 33,600 6,447 & 17) | EHa—y 0 0
it 62,167 2,234 it 0 0 it 66,116 9,698 gt 0 0
HHHa—u 0 0 HHHa—v 0 0 HiHa—v 0 0 Ao 0 0
s R M a1 100 251 4+ 4R | o 617 40 s R | EEHa- 100 o] 4 R |&EEa- 607 0
it 100 25 it 617 40 it 100 0 gt 607 0
HiHa—y 0 0 HiHa—y 563 -38 HiHa—y 0 0 HHHa—py 591 -31
2R M a1 1,959 336] FEoMisR | MEHa-L 1,133 483 FoHgR | - 2,020 370 FomngR | MiHo-v 470 -60
it 1,959 336 it 1,696 445 it 2,020 370 gt 1,061 -91
HiHa—y 0 0 HiHa—y 1,433 -8,280 HiHa—y 0 0 HHHa—py 100|  —10,000
fFa&hse | EfHa- 4,529 -1,047) 1E4&H4 | M- 5,834 2,433 fFaefse | EHEa-L 4,185 -1,070) E4&+4 | EfHa-n 7,742 1,092
154 2} 4,529 -1,047 54 2} 7,267 -5,847 154 2} 4,185 -1,070 154 2| 7,842 -8,908
HHHa— 0 0 HiHa—v 0 0 HiHa—v 0 0 AHiHa— 0 0
BRI 2,650 499 MR | BHa- 0 0 BARRHE | - 2,290 -140| BB | WL 0 0
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